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SURFACE AREA

The surface area of a solid is the total area of all the sides of a solid.

CUBE

There are six sides on a cube. To find the surface area of a cube, find the area of one side and
multiply by 6.

Area of each side of the cube:

3 X 3=9 cm

Total surface area: 9 x 6= 54 cm

RECTANGULAR PRISM

There are 6 sides on a rectangular prism. To find the surface area, addthe areas of the six
rectangular sides.

7 in.

in.

in.

Top andBottom Frontand Back Left and Right

7 in. 7 in.

4 in.:
in. 3 in.

4 in.

Area of top side: Area of front: Area of left side:

7 in. X 4 in. = 28 in' 3 in. X 4 in. = 12 in 3 in. X 7 in. =21 in

Area of top and bottom: Area of front and back: Areaof left and right:
28 in. X 2 in. 56 in' 12 in. X 2 in. 24 in' 21 in. X 2 in. = 42 in

Total surface area: 56 in' + 24 in' + 42 in?= 122 in3
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Find the surface area of the following cubes and prisms.

5 em
6 em

SA

6 cm
10in.

2 in
5 em 10in.

Sa= Sa=

10f

Sa= SA

7 mm

Sa= Sa=

10.

8em

14cm
3 em

Sa= Sa=
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PYRAMID

Thepyramidbelow is made of a square base with 4 triangles on the sides.

12 cm 12 cm

8 cm 8 cm

8 cm

Area of square base: Area of sides:
Areaof 1 side = 2bh
A=½ X 8 x 12 = 48 cm

Area of 4 sides = 48 X 4= 192 cm

Total surface area: 64 + 192 = 256 cm

Find the surface area of the following pyramids.

1. 4. 7.
ft.

m

8 cm

2 ft.

2 ft. 4 m m

SA SA

2. 5.

12 mm 10 in.

3 m in.
6 mm 6 mm 5 in.

3. 6. 9.

15 m 10 in.

7 ft.
in. in. 7 ft.

10 m
10 m

SA:
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CYLINDER

If the side of a cylinder were slit from top to bottom and laidflat, its shape would be a rectangle.
The length of the rectangle is the same as the circumference of the circle that is the base of the
cylinder. The width of the rectangle is the height of the cylinder.

= 3 in.

Total Surface Area of a Cylinder = 27r+ 21rh

Area of top and bottom: Area of side:

Area of a circle= Tr Area of rectangle= I X h

Area of top 3.14 x 3= 28.26 in.1 2 X 3.14 X 3= 18.84 in.

Area of topand bottom = 2 X 28.26 = 56.52 in. Area of rectangle = 18.84 X 6= 113.04 in.

Total surface area= 56.52 + 113.04 = 169.56in

Find the surface area of the following cylinders. Use T = 3.14

1. 4. 7.

4 in.

SA = SA=

2. 5.
ft.

8.

10 ft.

4 cm

SA: SA =

10m

3. 6. 9.

m

m

SA SA=
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